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Intermediate |
Chapter 8 PRACTICE TEST

#*Sh .
ow evz_ry ;‘ormula and equation. Show what you’re plugging into the formulas. Show all your work,
ircle or square your final answer. Round to the nearest hundredth if necessary**

8.1 (Finding Circumference of a Circle) Use 3.14 for Pi
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8.2 (Finding Area of a Circle) Use 3.14 for Pi. tx
5.h Find thg area of a circle 6. Find the area of the 7. Find the area of the 8. If the circumference
w.” | whose radius is 4 cm, circle pictured below. circle pictured below. of a circle is 37.68, find

the area of the same
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8.3 (Find the Area of a Composite Figure) ' l
9. Find the area of the figure below. Show your work for'each part.
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o 12. United Gravel sells sand per
: cubic foot. You just built a ne\fv
pd sandbox for your back yard with ‘ <:)
: dimensions 10 feet long, 8 feet wide, %
X /L ------- 7 and 1.5 feet tall. Is 100 cubic feet ‘
- enough to fill your sandbox? Explain.
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8.5 (Find the Volume of a Pyramid)
13. 14. 15. Ms. Ruud has a cube of cheese

that measures 7inx 7 inx 7 in. If she

carves a pyramid out of this cube

96 km that has a base measuring 7in x 7 in
' and has a height of 5 inches, how

much cheese is ieft over?
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8.6 (Find the Surface Area of a Prism)
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18. Thomas wants to paint his
prism-shaped art project and needs
to know how much paint to buy.
Each tube of paint covers 75 cm2.
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8.7 (Find the Surface Area of a Pyramid)
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8.8 (Find the Volufme and Surface Area of Composite Figures) T
22. Find the volume of the composite | 23. Find the surface area of the 24. Find the volume and surface
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